
tolne the laotometer readbg of the milk when skimmed. As each oer cent, of f*t
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bj .dding the lactometer reading of the milk and eisht-tenths ofthe percentage of fat together. Next, sinoo Lch per cent, of sSfds n^rfaJ tn

wge 01 souds-not-fat in it by dividing its lactometer reading by four.

mAA j2"^* '^? j^^^r°^iM the percentage of solids-not-fat (8. N. IT) in milk

^fat /Fw'*"^ ^~"T.'^7^''*"« <^>*°^ elghttonths (.8) of the perS«f fat (F) together, and divide by four. Briefly expressed ihus :
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the per cent, of solids-not-fat is sufficiently

St^tr'e^o'Cn'dTt'r
"""'^'^ ^'"^ """'*' "'^ required-and has it. siS

t««J° determine the per cent, of solids-not-fat in milk add its corrected lao-tometer reading and per cent of 2at toRether and divide by foor
L-t-F
—4 = S. N. F.

nf R^A^^^^V i^' **'^ Uotometer reading of a sample of milk at a temoerature^f 64^degree8 be 32. and the per cent, of fat be 3.6. %ind theper cent o^lSHS

_, ^, „ Corrected lactomotor reftding = 32 4
J«rom the first rule we have,
L -f .8F = 32.4 -f .8 X 3.6 = 32.4 + 2.89

Z^ = 8.82 per cent. S.N.F.4 4

From the second rule we have,
h + F = 32.4 + 3.6

9 per cant. S.N.F.

Watered Milk.
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'""'' '"^ » watered sample, multiply the per cent
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The per cent of solids-not-fat in a sample of Dure millr t> G • v«* -**being watered the per cent, of soHds-not fit in the waT ^d .amp£ . 7 o'Find the per cent, of pure milk in the watered sample.
^ '^'

Per cent, of pure milk in watered sample = 7.2j<JOO ^ g^ ^^^ ^^^^^
Per cent, of extraneous water = 100 - 80 = 20 per cent


